
Internationally 
patented models

 EX
PE

RT
 B

RU
SH

LE
SS

 B
LE

ND
ER

 #
62

Food and Beverage 
Equipment Provider



Thanks to its 30 pre-
programmed cycles, the 
brushless blender #62 
makes any kind of cold 
drinks (cocktails, smoothies, 
milkshakes, granitas, iced 
coffees…).

The patented two-way rotation 
of the blade, unique on the 
market, crushes and blends 
any kind of ingredients in a few 
seconds, including ice cubes 
and frozen fruits.

It is very quiet thanks to its 
sound enclosure and its 
brushless motor.

 
The Brushless Blender #62 
can be used either countertop 
or in-counter, without any 
additional option (simple and 
quick dismantling of the base).

In-counter 
blender

Extremely 
quiet blender

1    Removable sound 
enclosure with seal 

2   Bishpenol A-free 
graduated jar  
Graduation: 48 oz / 1.4L 
Capacity: 81 oz / 2.4L

3   LCD display

4   Programs for a high quality, 
precise and constant blend

5  Illuminated Touchpad 
control panel in glass

6  Extra strong blade: patented 
two-way rotation system

7   Sound reducing removable pad 

8   Brushless motor

9   USB Port: to update and 
to add your own programs

Motor 
Single phase: 
100-120 V – 50 / 60 Hz – CE, NSF, ETL 
220-240 V – 50 / 60 Hz – CE, NSF, KC

Speed:  
Max torque: 8N.m 

Appliance
W: 200 mm (8’’) 
D: 247 mm (10’’)
H: 441 mm (17’’)

Net weight:
8.3 Kg (17.6 lbs)

In-counter 
version
W: 200 mm (8’’) 
D: 247 mm (10’’)
H: 306 mm (12’’)
Net weight:
8.3 Kg (17.6 lbs)

Shipping Box
W: 255 mm (10’’) 
D: 330 mm (13’’)
H: 510 mm (20’’)

Packed weight:
9.2 Kg (19.8 lbs)

Safety, Standards, Hygiene Technical specifications

PRODUCT: 2 YEAR WARRANTY

In accordance 
with the 
following 
regulations

Machinery directive 2006 / 42 / EC

Electromagnetic compatibility 2014 / 30 
/ EU

‘‘Low voltage’’ directive 2014 / 35 / EU

RoHS directive 2011 / 65 / EU

Regulation 1935 / 2004 / EC (contact with 
food)

Regulation 10 / 2011 / EU (Plastic in 
contact with food)

Harmonized 
European 
Standards

EN ISO 12100: 2010

NF EN 12852 + A1: 2010

EN 60204-1 + A1: 2009

EN 60335-2-64: 2004 Commercial 
electric kitchen machines

CE Marking, ETL, NSF, KC

Thermal 
Safety

Motor protected by internal thermal 
detector

Electrical 
Safety

Waterproof On/Off interlock switch

Appliances are 100% tested after 
assembly

Acoustic 
Safety Very silent and powerful brushless motor

Hygiene All removable parts can be put in a 
dishwasher or easily cleaned with hot 
soapy water. Bysphenol-free

W W
D D

H

H

1

2

3
4

5

6

7

8

9

Performance
Brushless motor: low consumption, 
high performance (8N.m).
TiN coated blade: high resistance, 
adapted to intensive use.
Dual Crushing Action: Patented  
two-way rotation of the blade.
Quick blend thanks to the various  
pre-programmed cycles.

O
pt

io
n 

co
lo

re
d 

ju
gs

Ref 62100Y

Ref 62100R

www.brushless 
blender.fr

Simplicity
Touchpad control pannel with LCD 
display.
Easy cleaning: Removable sound 
enclosure, pad and jar.
Stackable jars, graduated in milliliters 
and ounces, adapted to right-handers 
and left-handers.
Easy maintenance: each part of the jar 
can be dismantled (including the blade).
6 programmable buttons: 30 pre-
programmed cycles and possibility 
to create its own programs (free 
software + USB port).

Create your 
own programs

Perfect to avoid 
allergens cross 

contact

Choose your brushless blender
Equipped with a permanent magnet 
rotor, the brushless motor has many 
advantages : 
— No maintenance 
— Long lifetime 
— Low noise level 
— Excellent energy efficiency

C
om

pa
ct

 6
6

 E
xp

er
t 6

2

WATCH OUR 
DEMONSTRATION 
VIDEO



10
 / 2

02
2 

- 
 V

14
  |

  g
ra

ph
ic

 d
es

ig
n:

 T
um

ul
te

62125

62116

62114
62109

62101

62106
62105

62119

62401

62402

62203

- - - - -

62405

62340

62345

-----
-----

62315
62311
62312

62305

62351

62332F-230V

62
25

0

62
10

0

62
40

0

62344

62343-230V
62343B-115V

62352

62351

62353

62
11

0

62300-230V

- - - - -62
22

0

62103

62365-230V
62365B-115V

62208

62222

62348
62347

62380-230V

-----

SANTOS Brushless Blender #62
From date:
from serial number: 

62355
62357
62358
62359

-----
62383

-----
62385
62379
62373
62389
62388
62387
62386

62381

62319

62395
62391
62392
62393
62394

NUMERO DE PIECE PartNo desi Révision Material Masse 
Acier Masse Alu Masse 

plastique
Masse 
cuivre

Masse 
Divers QTE

1 99 40 016 Vis Taptite TCBLX 
Empreinte TORX + Fente  4 x 20 Zn S40016 Tap TCBLX 4x20 Aciers ZN 3.19 -

2 99 40 028 Vis Tap-fix TF-X  6 x 16 
Zn S40028 V TF-X 6x16 Autotar Aciers ZN 4.63 -

3 62 202 1B Cloche partie fixe-2-Tradi 62 202 Cloche Fixe 0B Tritan TX 520.00 -
4 62 204 1C Support de Bol 62204 Support Bol PP-EPDM 115.60 -
5 62 210 1B Cloche mobile complète -

5.1   99 90 025 Autocolant santos OVAL S90025 SANTOS Oval 1.5 -

5.2   62 206 01 Aimant Neodyme 5x3 62206 Aimant
Acier 

inoxydable 
(ferritique)

0.46 -

5.3   62 201 1B Couvercle de Cloche-2 62 201 Cloche Mobile 0C Tritan TX 846.41 -
6 62 100 01 bol complet -

6.1   62 101 02 Bol 62 101 BOL 0D PC haute 
viscosité 438.85 -

6.2   62 110 01 Palier couteau complet -
6.2.1     62 115 01 Palier couteau 62115 Palier Couteau Inox 303 40.56 -
6.2.2     99 00 012 Roulement 608 LLU-5K 

8x22x7 INOX S00012 608 LLU/5K 8x22x7 In 12 -

6.2.3     62 113 01 Rondelle entre 
roulements 62113 R entre roulements Inox 304 0.82 -

6.2.4     62 120 04 Couteau 62120 Couteau 0I Inox 420, 
Z20C13 16.72 -

6.2.5     62 117 02 Rondelle appui couteau 62117 Rondelle appui couteau 0C Inox 420, 
Z20C13 1.24 -

6.2.6     62 111 03 Axe couteau 62 111V Axe Couteau 0B Inox 
Z15CN16.02 19.41 -

6.2.7     99 81 031 Joint torique 29 x 1.5 
Nitrile 70 Shores A S81031 JT 29x1.5 70Sh A Nitril 0.21 -

6.2.8     99 80 011Joint V-Ring V 8 A S80011 V-Ring V 8 A Nitril 0.19 -
6.2.9     62 118 01 Ecrou fixation couteau 62118 E fixation couteau Inox 303 6.12 -
6.3   62 105 02 Ecrou palier 62105 Ecrou palier Laiton 101.78 -
6.4   99 81 006 Joint torique diam 48 x 2 S81006 J tor 48x2 Nitril 0.62 -
6.5   62 103 02 Couvercle de bol 62103 Couv 0A PP-EPDM 118.77 -
7 62 300 01 Base moteur -

7.1   62 301 1A Base moteur 62301 Base moteur AS9U3 615.42 -
7.2   62 310 01 Front Panel 62310 Panneau de commande 180 -
7.3   62 315 01 Ecran LCD -

7.3.1     62 315 01 Ecran LCD seul 62315 Ecran 40 -
7.3.2     62 316 01 Joint de clavier 62316  joint EPDM 1.34 -
7.4   62 340 01 Boite principale 62340 Boite 1 Aciers EZ 532.32 -
7.5   62 345 01 tôle avant 62345 Tôle AV Aciers EZ 189.29 -
7.6   62 330 03 Carte et Radiateur -

7.6.1     62 321 03 Radiateur 62321 Radiateur 0A AS9U3 306.68 -
7.6.2     62 320 F Carte Elec 230V -

7.6.2.1       PCB F -
7.6.2.2       Résistance de puissance -
7.6.2.3       CONNECTEUR HE10 - 20PTS-

3320-5002 -

7.6.2.4       CONNECTEUR HE10 - 14 PTS-
3314-5002 -

7.6.2.5       CONNECTEUR HE10 - 10 -
7.6.2.6       Minifit8pts-droit-444720854 -
7.6.2.7       Minifit8pts-male-039012080 -
7.6.2.8       AMP 3 POINTS 350766-1 -
7.6.2.9       molex minifit 39-01-2025 -

7.6.2.10       cosse male soudé -
7.6.2.11       pont de diode2 -
7.6.2.12       Mate-N-lok -
7.6.2.13       USB -
7.6.2.14       Fairchild FSAM50SM60A -
7.6.2.15       CONNECTEUR HE10 - 6 -
7.6.2.16       self -
7.6.2.17       Minifit2pts-droit-039281023 -
7.6.2.18       C-0350789-01-3 -

7.6.3     99 37 007 Vis CB M3 Lgr16  Zn S37007 CB M3x16 Aciers ZN 1.23 -
7.6.4     99 61 002 Rondelle AZ 3 Zn S61002 R AZ3 Aciers ZN 0.18 -
7.6.5     99 50 005 Ecrou H M3 Zn S50005 E HM3 Aciers ZN 0.40 -
7.6.6     99 40 037 Vis Taptite TCB-X M4x6 

Zn Blc S40037 TCB-X M4x6 autotar Aciers ZN 1.42 -
7.7   62 302 01 Moteur-Longway148-C 62302 moteur LW 1530 602 96 80 -
7.8   99 61 001 Rondelle AZ 5 Zn S61001 R AZ 5 Aciers ZN 0.54 -

7.9   99 40 036 Vis TCB-X M2x8 Zn blc S40036 Vis TCB-X M2x8 Zn
Matériau 

<non 
spécifié>

0.39 -

7.10
  99 13 002 CORDON 

D'ALIMENTATION AVEC PRISE 
220-240V 50-60 Hz 0

S13002 Prise 230V 0.75 215 -

7.11   99 41 012 Vis TCB-X 3.9 x 9.5 Tole 
IN A2 S41012 Tole TCB-X 3.9x9.5 Acier allié 

inoxydable 1.64 -

7.12   99 40 037 Vis Taptite TCB-X M4x6 
Zn Blc S40037 TCB-X M4x6 autotar Aciers ZN 1.42 -

7.13   99 40 014 Vis autoperceuse TH à 
embase 4,2 x 12,7 Zn S40014 Tôle TH 4.2x12.7 Aciers ZN 3.01 -

7.14   99 94 003 Butee caout diam 25 x 
15 Noir ref N369 S94003 Butée 25 x 12 Noir EPDM 7.92 -

7.15   99 41 013 Vis TCB-X 4.2 x 16 Tole S41013 Tole CBX 4.2x16 Aciers ZN 2.67 -
7.16   99 60 003 Rondelle plate 5 x 12 x 1 

Zn S60003 R plate 5x12x1 Aciers ZN 0.73 -

7.17   99 40 038 Vis Taptite TCB-X M4x10 
Zn Blc S40038 TCB-X M4x10 Autotar Spé Aciers ZN 1.84 -

7.18   62 303 01 Accouplement Moteur -
7.18.1     62 303 10 01 Accouplement 

Moteur 62303 Acc moteur PA 66 30 FV 16.07 -

7.18.2     62 303V 01 Palier Accouplement 
Moteur 62 303V Laiton 16.83 -

7.18.3     62 303W 01 insert sup -
7.19   99 40 039 Vis TF-X  5 x 20 IN S40039 Vis TF-X M5x20 In Inox 304 3.34 -
7.20   99 10 003 Interrupteur à bascule ref 

822 S10003 Bascule ref 822 16 -

7.21   99 60 041 Rondelle plate M2 
Imperdable 2.7x 5 x 1.5 PA6.6 S60041 R Imperdable M2 PA6.6 PA 66 0.03 -

7.22   99 15 009 Disjoncteur thermique 5A 
type 106 P10 5A S15009 Disj 106P10 5A 10 -

7.23   62 361 01 Self tube 62361 Selfs Tri 0A 200 -
7.24   99 32 016 Vis H M 5 x 10 Zn S32016 HM5x10 -
7.25   62 302 Moteur-Coréen-KtM90.122-

001 -

7.26   62 207 0A adaptateur support de 
bol -

7.27   62 208 01 Support de Bol 62204 Support Bol PP-EPDM 115.60 -
7.28   99 40 XXX Vis Tap TCB-X 5x12 Zn S40035 Vis TCB-X 5x20 Autotar Aciers ZN 3.29 -

8 62 150 0B bol Pentagonal complet -
8.1   99 81 006 Joint torique diam 48 x 2 S81006 J tor 48x2 Nitril 0.62 -
8.2   62 110 01 Palier couteau complet -

8.2.1     62 115 01 Palier couteau 62115 Palier Couteau Inox 303 40.56 -
8.2.2     99 00 012 Roulement 608 LLU-5K 

8x22x7 INOX S00012 608 LLU/5K 8x22x7 In 12 -

8.2.3     62 113 01 Rondelle entre 
roulements 62113 R entre roulements Inox 304 0.82 -

8.2.4     62 117 02 Rondelle appui couteau 62117 Rondelle appui couteau 0C Inox 420, 
Z20C13 1.24 -

8.2.5     99 81 031 Joint torique 29 x 1.5 
Nitrile 70 Shores A S81031 JT 29x1.5 70Sh A Nitril 0.21 -

8.2.6     99 80 011Joint V-Ring V 8 A S80011 V-Ring V 8 A Nitril 0.19 -
8.2.7     62 118 01 Ecrou fixation couteau 62118 E fixation couteau Inox 303 6.12 -
8.2.8     62 120 04 Couteau 62120 Couteau 0I Inox 304 16.72 -

8.2.9     62 111 03 Axe couteau 62 111V Axe Couteau 0B Inox 
Z15CN16.02 19.41 -

8.3   62 105 02 Ecrou palier 62105 Ecrou palier Laiton 101.78 -
8.4   62 153 0B Couvercle de bol 

Pentagonal 62103 Couv 0A PP-EPDM 102.37 -
8.5   62 154 01 bouchon de couvercle P -
8.6   62 151 0C Bol Pentagonal 62 151 BOL Pentagonal 0A Résine 

polyester 428.41 -

9 62 401 01 Jupe 62401 Jupe ABS BASF 
GP22 403.80 -

10 62 405 01 Joint de table 62405 Joint de table PP-EPDM 72.81 -

1211075
14/09/2022

SANTOS 
140-150 avenue Roger Salengro 
BP 80 067 
69511 Vaulx-en-Velin Cedex (Lyon) FRANCE

Tel: +33 472 37 35 29 
Fax: +33 478 26 58 21 
Email: santos@santos.fr 
www.santos.fr

Follow us on #santosaddict  
social networks

   

Food and Beverage 
Equipment Provider


